Metal Hinge

HNG-A xswevy un
o T—LEBROEVY, o ME -t LI 0 rons
A A e EERDHBZITH AV, NE—Fa1—FTA—IBRERICELT HNG-A
A A VET, . BET (DAL
| | ® N5—NUI—vavid 26, REDKRESICLY. BRT ) HELIR(ES)
@ _\r B) @ !_ o) -y ey “ SUS3034824
. . AEREEMRILN
-+- & o -ﬁ-- & o [HNG-A-5G]——OWHLVIL/N— AR P SUSXM7
e o © ANG-A-BK—— DPHLE
7 Z o 7YV TRYDFADKRATUTEMAIL N (SUSXM7 5) °uE
Az | As Az As EREBLEYT . RUBY—ER (BIFE) ZCFBLIEE L, fLA
vy . . tro [QHI@] ro '
I — ‘ S g . = €| M ™ ko
(7 =2 IS £ il LR9O
Ll |d|z Ll Jdfe LAy ¥
Ci C
- TS (N) )
LRO LR90 LA
HNG-30-30-A 1200 750 500
HNG-40-40-A 2100 2000 1200
HNG-50-50-A 3500 2500 2100
HNG-60-60-A 6000 5000 3200
HNG-63-50-A 2600 1200 1500
HNG-76-50-A 3000 1300 1300
HNG-90-60-A 4500 1400 1500
YT HNG-120-60-A 4500 1500 1300
2= 2940 A B Al A As B c & d H h ha B (g) Etgf;j('—lﬁx *1 BEECHBRICREDNRBRVERT. DTHRBRERINEEUVIBHZHEETT .
HNG-30-30-A pagu 30 |30 18 9 9 18 10.7 |10.7 |43 7.5 4 4.5 20 M4Xx12
HNG-40-40-A Py 40 |40 25 125 125 |25 16 16 53 9 5 55 47 M5X%15
HNG-50-50-A pag 50 |50 30 15 15 30 21 21 6.4 115 |6 6.5 85 M6X16
HNG-60-60-A pagu 60 |60 36 18 18 36 26 26 8.3 15 8 8.5 173 M8 X 25
HNG-63-50-A FEXIFR 63 |50 43 15 28 30 21 34 6.3 115 |6 6.5 108 M6X%16
HNG-76-50-A SR 76 |50 56 28 28 30 34 34 6.3 115 |6 6.5 120 M6X16
HNG-90-60-A FEIFR 90 |60 63 18 45 36 26 56 8.4 15 8 8.5 256 M8X 25
HNG-120-60-A pagad 120 |60 90 45 45 36 56 56 8.4 15 8 8.5 346 M8X 25

o REIETE xMliHE - MEAIENBKIT T A M ETELI TV,

‘HNG-30-30-A -‘SG

HNG-30-30-A-SG-P
| —

AUAE

-2
RUREY—E (BINE) ZCAROBEE. BRREOKRIC P EE
LT,

N\ NBK @17y 021 0575-23-1162 info@nbk1560.com https://www.nbk1560.com N\ NBK @/ r7vo21 0575-23-1162 info@nbk1560.com https://www.nbk1560.com



